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Name: Date:

Fact Families
Did you hear about what happened at the laundromat las
night?  Four clothespins held up two shirts!

1.

56

8 7

× =

× =

÷ =

÷ =

2.

40

10 4

× =

× =

÷ =

÷ =

3.

12

12 1

× =

× =

÷ =

÷ =

4.

55

11 5

× =

× =

÷ =

÷ =

5.

6

3 2

× =

× =

÷ =

÷ =

6.

72

12 6

× =

× =

÷ =

÷ =



© EducationalResource.org - 2 - 9/10/2019

Solve and show your work.

7. Claire's garden has 12 rows of pumpkins. Each row has three  
pumpkins. How many pumpkins does Claire have in all?

Solve and show your work.

8. Kamry made 56 cookies for a bake sale. She put the  
cookies in bags, with 8 cookies in each bag. How many  
bags did she have for the bake sale?

Solve and show your work

9. Kinzie has 321 more books than Mikael. Mikael has 815  
books. How many books does Kinzie have?

Solve.

10. 464 pens were in the basket. Some of the pens were removed  
from the basket. Now there are 233 pens. How many pens  
were removed from the basket?
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Name: Date:

Fact Families
Did you hear about what happened at the laundromat las
night?  Four clothespins held up two shirts!

1.

56

8 7

8 × 7 = 56

7 × 8 = 56

56 ÷ 8 = 7

56 ÷ 7 = 8

2.

40

10 4

10 × 4 = 40

4 × 10 = 40

40 ÷ 10 = 4

40 ÷ 4 = 10

3.

12

12 1

12 × 1 = 12

1 × 12 = 12

12 ÷ 12 = 1

12 ÷ 1 = 12

4.

55

11 5

11 × 5 = 55

5 × 11 = 55

55 ÷ 11 = 5

55 ÷ 5 = 11

5.

6

3 2

3 × 2 = 6

2 × 3 = 6

6 ÷ 3 = 2

6 ÷ 2 = 3

6.

72

12 6

12 × 6 = 72

6 × 12 = 72

72 ÷ 12 = 6

72 ÷ 6 = 12
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Solve and show your work.

7.

36

Claire's garden has 12 rows of pumpkins. Each row has three  
pumpkins. How many pumpkins does Claire have in all?

Solve and show your work.

8.

7

Kamry made 56 cookies for a bake sale. She put the  
cookies in bags, with 8 cookies in each bag. How many  
bags did she have for the bake sale?

Solve and show your work

9.

1,136

Kinzie has 321 more books than Mikael. Mikael has 815  
books. How many books does Kinzie have?

Solve.

10.

231

464 pens were in the basket. Some of the pens were removed  
from the basket. Now there are 233 pens. How many pens  
were removed from the basket?
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Name: Date:

Fact Families
What do you get when you cross a duck and a cow? Quackers and
milk!

1.

88

11 8

× =

× =

÷ =

÷ =

2.

90

9 10

× =

× =

÷ =

÷ =

3.

24

8 3

× =

× =

÷ =

÷ =

4.

18

2 9

× =

× =

÷ =

÷ =

5.

35

5 7

× =

× =

÷ =

÷ =

6.

108

12 9

× =

× =

÷ =

÷ =
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Solve and show your work.

7. Logan has nine times more stories than Johan. Johan has  
nine stories. How many stories does Logan have?

Solve and show your work.

8. How many 2 cm pieces of rope can you cut from a rope  
that is 10 cm long?

Solve and show your work

9. Some pencils were in the basket. 467 more pencils were  
added to the basket. Now there are 1,441 pencils. How many  
pencils were in the basket before more pencils were added?

Solve.

10. 227 marbles were in the basket. Some of the marbles were  
removed from the basket. Now there are 82 marbles. How  
many marbles were removed from the basket?

_________________________________________________________________________________________________
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Name: Date:

Fact Families
What do you get when you cross a duck and a cow? Quackers and
milk!

1.

88

11 8

11 × 8 = 88

8 × 11 = 88

88 ÷ 11 = 8

88 ÷ 8 = 11

2.

90

9 10

9 × 10 = 90

10 × 9 = 90

90 ÷ 9 = 10

90 ÷ 10 = 9

3.

24

8 3

8 × 3 = 24

3 × 8 = 24

24 ÷ 8 = 3

24 ÷ 3 = 8

4.

18

2 9

2 × 9 = 18

9 × 2 = 18

18 ÷ 2 = 9

18 ÷ 9 = 2

5.

35

5 7

5 × 7 = 35

7 × 5 = 35

35 ÷ 5 = 7

35 ÷ 7 = 5

6.

108

12 9

12 × 9 = 108

9 × 12 = 108

108 ÷ 12 = 9

108 ÷ 9 = 12
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Solve and show your work.

7.

81

Logan has nine times more stories than Johan. Johan has  
nine stories. How many stories does Logan have?

Solve and show your work.

8.

5

How many 2 cm pieces of rope can you cut from a rope  
that is 10 cm long?

Solve and show your work

9.

974

Some pencils were in the basket. 467 more pencils were  
added to the basket. Now there are 1,441 pencils. How many  
pencils were in the basket before more pencils were added?

Solve.

10.

145

227 marbles were in the basket. Some of the marbles were  
removed from the basket. Now there are 82 marbles. How  
many marbles were removed from the basket?

_________________________________________________________________________________________________
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Name: Date:

Fact Families
Why did the teacher wear sunglasses? Because the students
were so bright!

1.

54

9 6

× =

× =

÷ =

÷ =

2.

5

5 1

× =

× =

÷ =

÷ =

3.

63

7 9

× =

× =

÷ =

÷ =

4.

88

11 8

× =

× =

÷ =

÷ =

5.

90

10 9

× =

× =

÷ =

÷ =

6.

36

9 4

× =

× =

÷ =

÷ =
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Solve and show your work.

7. If there are seven coins in each box and there are seven  
boxes, how many coins are there in total?

Solve and show your work.

8. Mikael made 21 cookies for a bake sale. She put the  
cookies in bags, with 7 cookies in each bag. How many  
bags did she have for the bake sale?

Solve and show your work

9. Kaiser read two books.  The first book had 436 pages.  The  
second book had 49 pages.  How many pages did Kaiser  
read all together?

Solve.

10. 679 balls are in the basket. 184 are red and the rest are  
green. How many balls are green?

_________________________________________________________________________________________________
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Name: Date:

Fact Families
Why did the teacher wear sunglasses? Because the students
were so bright!

1.

54

9 6

9 × 6 = 54

6 × 9 = 54

54 ÷ 9 = 6

54 ÷ 6 = 9

2.

5

5 1

5 × 1 = 5

1 × 5 = 5

5 ÷ 5 = 1

5 ÷ 1 = 5

3.

63

7 9

7 × 9 = 63

9 × 7 = 63

63 ÷ 7 = 9

63 ÷ 9 = 7

4.

88

11 8

11 × 8 = 88

8 × 11 = 88

88 ÷ 11 = 8

88 ÷ 8 = 11

5.

90

10 9

10 × 9 = 90

9 × 10 = 90

90 ÷ 10 = 9

90 ÷ 9 = 10

6.

36

9 4

9 × 4 = 36

4 × 9 = 36

36 ÷ 9 = 4

36 ÷ 4 = 9
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Solve and show your work.

7.

49

If there are seven coins in each box and there are seven  
boxes, how many coins are there in total?

Solve and show your work.

8.

3

Mikael made 21 cookies for a bake sale. She put the  
cookies in bags, with 7 cookies in each bag. How many  
bags did she have for the bake sale?

Solve and show your work

9.

485

Kaiser read two books.  The first book had 436 pages.  The  
second book had 49 pages.  How many pages did Kaiser  
read all together?

Solve.

10.

495

679 balls are in the basket. 184 are red and the rest are  
green. How many balls are green?

_________________________________________________________________________________________________


